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B[ Semx
[Duration: 3hrs) . [Marks: 80]
N.B. : (1) Question No 1 is Compulsor&.
(2) Attempt any three questions out of the remaining five.
(3) All questions carry equal marks.
(4) Assume suitable data, if required and state it clearly.
1. Attempt any FOUR _ (20]
a  Explain <audio> and <video> controls of HTMLS5 with appropriate example.  [05]
b  Explain the Document Object Model in detail with an example. (05]
. ¢ Discuss the advantages of React Js. [05)
d Explain the different datatypes of PHP.
e Whatare the characteristics of Rich Internet Application (RIA) [05]
2. a .Explain the working of rowspan and colspan of table when used in HTML [10]
~ with suitable example.
b Write a short note on JDBC (10]
3. a Whatis mean by Event handling in JavaScript explain it with example. (10]
b  Write a short note on JSP. [10]
4. a Explain how Shadow effect can be-applied on Text using CSS with suitable [10]
- example.
b Draw a diagram of Ajax application model and Tradmonal apphcatlon web [10]
model and compare them.
5. -a  Write a JavaScript code to accept a name and password from user and validate [10]
. . the data as follows:-
» Name should not be empty
« Password should not be less than 6 characters
b What are the features of React JS and write a code for "Hello World" using [10]
React JS.
6. a Explain the structure of XML Document with an example. [10]
b Explain the Servlet Life cycle with neat diagram. [10]
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Time: 3 hours

Max. Marks: 80

Note: 1. Question no.l is compulsory.
2. Attempt any three out of remaining five.
3. Assumptions made should be clearly indicated.
4. Figures to the right indicates full marks.
5.Assume suitable data whenever necessary.

Question 1

Question 2
. A
B

. Question 3

A

56039

Write a short nofe on the following. Solve any four.

(5 marks each)

Write a note on web usage mining. Also state its any two applications.
Describe any five issues in'data mining.

Explain how Naive Bayes classification makes predictions and
discuss the "naive" assumption in Naive Bayes. Provide an example to
illustrate the application of Naive Bayes in a real-world scenario.

Suppose the data for clustering is {6,14,18,22,1,40,50,11,25} consider
k=2, cluster the given data using k means algorithm,

Explain the concept of market basket analysis with example.

Differentiate between ER modeling vs Dimensional modeling.

10 marks each
Describe in detail about how to evaluate accuracy of the classifier.

lllustrate major steps in ETL process.

10 marks each

Explain KDD process with neat diagram. Also state any five
applications of data mining.

For the table given perform Apriori algorithm and show frequent item
set and strong association rules. Assume Minimum Support of 30% and
Minimum confidence of 70%.

TID | Items

1 1,4,6,8
2 2,53

3 - 7,1,3,8
4 9,10

3 1,5
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P;'lpcr / Subject Code: 31924 / Data Warchous

10 marks each

A social media platform wants to analyze user engagement data to
improve content recommendations and user experience. The
information about user

INTERACTIONS fact table contains

interactions, including'interacticn details, user information,- content-
details, and time periods. The dimension tables” provide ~additional
context about users, content, categories, and timé'periods.-Desi gn astar

schema and snowflake schema for the same.
Explain Multilevel Association Rules Mining and Multidimensional
Association Rules Mining with examples.

Question 4
A

B

Question 5 10 marks each
A A company wants to predict whether a customer will subscribe to a
premium membership based on their demographic and browsing

behavior data. The dataset contains information about customers,

including age, gender, income, browsing time, and subscription status.

Browsing Time | Subscription |

Age | Gender | Income

20-30 | Male High 10am-12pm Yes
20-30 | Female | Medium | 2pm-4pm _Yes
30-40 | Male Low 8am-10am | No
30-40 | Female | High 4pm-6pm Yes
>40 | Male Medium | 6pm-8pm Yes -
>40 | Female | Medium | 8am-10am No
>40 | Male High 12pm-2pm Yes

Low 10am-12pm No

20-30 | Female
20-30 | Male Medium | 2pm-4pm Yes -
30-40 | Female | High 8am-10am - Yes

: Use ID3 to build the decision tree and predict the following example:

Age | Gender | Income | Browsing Time
20-30 | Male Medium | 10am-12pm
Illustrate page rank algorithm with example.

B
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Question 6

56039

A

Paper/ Subject Code: 31924 / Data Warchousing & Mining

10 marks each

Following table gives fat and proteins content of items. Apply single -

linkage clustering and construct dendrogram.

‘F, Uo-f'l‘I:l.Lfm i:P(ftgift' Fal
T
2 8.2 20
3 4.2 A 35
4 1.5 21 |
5 7.6 15
6 2.0 55
7 3.9 39

Explain in brief whatis data discretization and concept hierarchy

generation.
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Time: 3 Hours _ - Max. _Marks: 80 -
/g ¥ I:;\.. : g .\:._' _-._ -
N.B. (1) Question one is Compulsory & W A s ~
(2) Attempt any 3 questlons out of the rcmammg = e :
(3) Assume suitable data if requlred N :
Q. 1 Solve any Four out‘bf the folro'wing (5 marks each) 20M
a. Explain Software ProceSS*UmbrellmAcnwtles : ) |
A O —
b. Explain software reen\gmeenng N S = )
c. What is Capability Maturity Modél (CMM)“Exp!am drfferent CMM levels R -
d. DesxgnUser Interf‘ce for Onlme Shoppmt7 System .~ oy & ~
1®) e. Discuss limitations of Waterfall model-& Spiral Model ~ '
f. Draw Use Case Dxagram for Hosplmleagement System \ ,
- % NG ":\ _;_~. e : ~ -
Q.2 N T AR ~ JRR - N L

S

2. What, ls-Aglle ProceSs" Explam SCRUMxProcess Model with a.llachwues -~ 10M” ~
b. What “do you mean by Coheswn & Couphng" Explam dlfferent types of cohesxon.&

_ Couplmg _-_:T‘ _/\\ o oy 10M
Q. 3 ' : o ,Q\ A
a  What i is Software Testing? E;plam d:fferent types of- software testmg : 10M
- b. Deﬁnc Risk? What are dlffercnt categones of nsks" Explam RMMM plan 10M
with suitable examplc ) o~ ~ . ,
" ’. N -.__\ N ,"'\
Q.4 Qo I _
A a Explam,& compareFT R& Walkthrough,. R My : 10M
< b. Explam change control & Verswn Control LN 10M
. - ~ ’ -, \ . . {“
@ Qs - S ﬁf e o~ S
. ‘ a.- Explaln dlfferent typeiof soﬁwarevmamtenance ;:‘ 10M
" b. What is SRS” Prepare a SRS for Online Mov:e Bookmg System. 10M
Q6 & &
a. Llst dxfferent metrlcs used for software measurement" Explain function 10M
.-point- basedestlmanon techmque in ‘detail.
b Explam software des\gn pnncngles in detalhllustratmg with example 10M

i
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Duration: 3 Hours [Max Marks: 80]
N.B: (1) Question No I is Compulsory.
(2) Attempt any three questions'out of the n:mammg five.”

(3) All questions carry cqual marks. ,;\.
(4) Assume suitable data, xl'rcqum:d nnd stalc it clc.uly

! o ' [20]
a  Explain the ways of acccptance by a I‘DA. [05]
b Discuss dxncmncc in tmnsmun function of PDA, TM and F A 105]).
. ¢ Design DFA that ncccpls Smngs thal contain 3 ba“ or “nb“ as suﬁ'lx over Z={a b} -stl
d  Construct CFG 10 gcncmlc.t!lc language * L= {zli bt | k=14, i.j >=1} 105]
2 a  Represeat RE epsilon for L = {w: w has prefix bab and suflix abb and w.is a string over {a,b}. k[lO]
Design NFA with epsilon mO\cs s for ncocpung L. Conv crtit to mmmuzcd DFA. -~ Y
b Explain Pumpms: Lcmm: for rcgular I:mguagcs Prove that gncn languagc is noz a rcgular [10]
l.mﬂuaga L={a"b"™ l o>=l} - - ' i
3 a Thegrammar Gis S—aB|bA, A —a|aS|bAA, B— b|bS|aBB |10]
Derive using Lcﬁ Maost Denv. auon(LMD) and nghrmosu Dcnvauon (RMD) for the following
. string “22abbb". Draw Parsc Tree. - . ok
b Give formal definition of Push Down Aulomau. Dcsngn PDA lh.'n nccepts odd palidromes 110]
over {a,b,c}, where ¢ exists only at the center-of every string. .
4 a 1) Design DFA that accchf; Strings that are mul:ipl‘cs of 4.3={0,1}. [10]
i) Design NFA that accepts smnbs sl.'mml., witlra and cndmg, ; with a or starting with b and
cndmg inb. . : I e
b Design a Mcaly machine to changc cvcryoccuncncc of a vuth x, b with y and c is kept [10]
unchanged. Convert the same to equivalent Moorc machmc
5 a Consxdcr folloumn CFG.Isit alxcad) s:mphﬁcd ? Explain you answer. Convert it to CNF (10]
form. . ) -
S —L}\SB |a] btr '
A— aSA|a "
B — SbS|bb i
i (10

b Design a TM for converting & input binary number to its one’s complement of a binary

564720 i Page 1 of 2
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Paper / Subject Code: 31921 ! Theoretical Computer Scit;ncc

number. o 3
6 Write Short notes (Any Four) 120]
a Chomsky Hicrarchy
b Post Correspondence Problen. -
¢ Arden’s Theorem 3 ) g : “
' " "‘ f\\ , -' - m
d TM-Halting Problem.” ,,f
¢ Variants of Tuming Machines™ :
K - —— & P
56472 S Page 2 of 2

© X1118YBCOSEBX1118YBCOSEBXI11 18YBCOSEBX1118YBCOSEB

Scanned with CamScanner



j —..Ec.ocll_ S TE/ S’C-"”"SZ:/C-OMP/ o/ o?/OG/Zoz.y

ToE|Sem T | Compuke| ray - 2004

Duration: 3 Hrs. > . Total MarkS 80

N.B.:

Q.1

Q.3.

Qs

Q.

1) Question No. 1 is Compulsory. & : :,;-'_

Paper / Subject Code: 31923/ Computcr Network

2) Attempt any three questions, from remaining fi f've quesllons
3) Figure to the right indicates full marks

a)
b)

c)
d)

a)
b)

~produces? , !
<. a) 1000 frames per second - O

State and explain the design issues of OS] layers & N Ky
Compare the performance characterrstxcs of coax:al twrsted palr zmd fi ber optlc o

transmission media. " “ & N
List the types of Error Detecnon and Correction techmqucs with the help of examplc

Compare the Network layer protocols IPv4 and va6

Explain ISO- 0SI reference model-with dlagram

the tranSport layer e
What is the throughput of the sysfem both in Pure ALOHA and Slotted ALOHA lf the
network transmits 200 ‘bits frames on a shared channel of 200 Kbps and the system

Ly

- ¥

b) 500 frames per second '~

Analyze the steps mvoIved in Token and Leaky bucket algonlhm by quotmg the need and
benef' tin the network layer wrth suitable dlagrams Q

- Explain Lmked State Routmg with the help of example ‘

An ISP is granted a block of addresses starting with 190.100.0.0/ 16 (65,536 addresses).
'I'he ISP needs to distribute these addresses to three groups of customers as follows:

~~a. The first group has 64 customers; cach need 256 addresses.
“. b.The second group has 128 customers; each need 128 addresses.

¢.The third group has 128 customers; each need 64 addresses.
Design the subblocks-and find out how many addresses are still available after these

.allocatlons

What is Congestion control? Explain‘Open loop iand Close loop Congestion control.

a)’
b)

Draw and summarize the structure of HTTP request and response.

- Write Short Note on (Any Two)

p_—

(a) Address Resolution Protocol (ARP)
(b) Classful and Classless Addressing
" (c) Distance Vector Routing (DVR)

(AT RS2 2222 A2 L)
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Ilustrate TCP protocol for estabhshmg a connectlon using 3-way handshake techmque in _.'_10

10

10

10
10

10
10
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